

1.5 期望值与方差

[2] $X \sim \text{Bin}(2, \frac{1}{2})$ 取值 $0, 1, 2$. $P(X=0) = (\frac{1}{2})^2$, $P(X=1) = (\frac{1}{2})^2 + (\frac{1}{2})^2$, $P(X=2) = (\frac{1}{2})^2$

X	0	1	2	总计
$P(X=k)$	$\frac{1}{4}$	$\frac{1}{2}$	$\frac{1}{4}$	1

$$E(X) = 0 \times \frac{1}{4} + 1 \times \frac{1}{2} + 2 \times \frac{1}{4} = 1$$

$$V(X) = E(X^2) - \{E(X)\}^2$$

$$= 0^2 \times \frac{1}{4} + 1^2 \times \frac{1}{2} + 2^2 \times \frac{1}{4} - 1 = \frac{1}{2}$$

$$\sigma(X) = \sqrt{V(X)} = \frac{1}{\sqrt{2}} = \frac{\sqrt{2}}{2}$$

[3] $X \sim \text{Bin}(4, \frac{1}{2})$ 取值 $0, 1, 2, 3$.

$$P(X=0) = \frac{{4 \choose 0} (\frac{1}{2})^4}{{4 \choose 0} (\frac{1}{2})^4} = \frac{1}{16}, \quad P(X=1) = \frac{{4 \choose 1} (\frac{1}{2})^4}{{4 \choose 1} (\frac{1}{2})^4} = \frac{4}{16} = \frac{1}{4}$$

$$P(X=2) = \frac{{4 \choose 2} (\frac{1}{2})^4}{{4 \choose 2} (\frac{1}{2})^4} = \frac{6}{16} = \frac{3}{8}, \quad P(X=3) = \frac{{4 \choose 3} (\frac{1}{2})^4}{{4 \choose 3} (\frac{1}{2})^4} = \frac{4}{16} = \frac{1}{4}$$

X	0	1	2	3	总计
$P(X=k)$	$\frac{1}{16}$	$\frac{1}{4}$	$\frac{3}{8}$	$\frac{1}{4}$	1

$$E(X) = 0 \times \frac{1}{16} + 1 \times \frac{1}{4} + 2 \times \frac{3}{8} + 3 \times \frac{1}{4} = 2$$

$$V(X) = E(X^2) - \{E(X)\}^2 = 0^2 \times \frac{1}{16} + 1^2 \times \frac{1}{4} + 2^2 \times \frac{3}{8} + 3^2 \times \frac{1}{4} - 2^2 = \frac{2}{1}$$

$$\sigma(X) = \sqrt{V(X)} = \frac{\sqrt{2}}{1}$$

$$[4] E(X) = \int_{-\infty}^{\infty} x \cdot p(x) dx = \int_0^2 x \left(\frac{1}{3} + \frac{1}{6}x \right) dx = \int_0^2 \left(\frac{1}{3}x + \frac{1}{6}x^2 \right) dx = \left[\frac{1}{6}x^2 + \frac{1}{18}x^3 \right]_0^2$$

$$= \frac{4}{6} + \frac{8}{18} = \frac{10}{9}$$

$$V(X) = E(X^2) - \{E(X)\}^2 = \int_0^2 x^2 \left(\frac{1}{3} + \frac{1}{6}x \right) dx - \left(\frac{10}{9} \right)^2 = \int_0^2 \left(\frac{1}{3}x^2 + \frac{1}{6}x^3 \right) dx - \frac{100}{81}$$

$$= \left[\frac{1}{9}x^3 + \frac{1}{24}x^4 \right]_0^2 - \frac{100}{81} = \frac{8}{9} + \frac{16}{24} - \frac{100}{81} = \frac{26}{81} \quad \therefore \sigma(X) = \sqrt{V(X)} = \frac{\sqrt{26}}{9}$$

$$[5] E(X) = \int_0^{\infty} x \cdot 2e^{-2x} dx = 2 \int_0^{\infty} x e^{-2x} dx$$

$$I = \int_0^{\infty} x e^{-2x} dx = \left[-\frac{1}{2} x e^{-2x} \right]_0^{\infty} - \int_0^{\infty} \left(-\frac{1}{2} e^{-2x} \right) dx = -\frac{1}{2} \lim_{x \rightarrow \infty} \frac{x}{e^{2x}} + \frac{1}{2} \int_0^{\infty} e^{-2x} dx$$

$$= \frac{1}{2} \left[-\frac{1}{2} e^{-2x} \right]_0^{\infty} = -\frac{1}{4} \left(\lim_{x \rightarrow \infty} \frac{1}{e^{2x}} - 1 \right) = \frac{1}{4} \quad \therefore E(X) = \frac{1}{2}$$

$$\begin{aligned}
 V(X) &= E(X^2) - \{E(X)\}^2 = \int_0^{\infty} x^2 \cdot 2e^{-2x} dx - \left(\frac{1}{2}\right)^2 = 2 \int_0^{\infty} x^2 e^{-2x} dx - \frac{1}{4} \\
 \int_0^{\infty} x^2 e^{-2x} dx &= \left[x^2 \left(-\frac{1}{2} e^{-2x}\right) \right]_0^{\infty} - \int_0^{\infty} 2x \left(-\frac{1}{2} e^{-2x}\right) dx = -\frac{1}{2} \lim_{x \rightarrow \infty} \frac{x^2}{e^{2x}} + \int_0^{\infty} x e^{-2x} dx \\
 &= \frac{1}{4} \quad \therefore V(X) = 2 \times \frac{1}{4} - \frac{1}{4} = \frac{1}{2} - \frac{1}{4} = \frac{1}{4}
 \end{aligned}$$

$\boxed{6}$ 連續型變數: $E(X-a)^2 = \int_{-\infty}^{\infty} (x-a)^2 p(x) dx = \int_{-\infty}^{\infty} (x^2 - 2ax + a^2) p(x) dx$
 $= \int_{-\infty}^{\infty} x^2 p(x) dx - 2a \int_{-\infty}^{\infty} x p(x) dx + a^2 \int_{-\infty}^{\infty} p(x) dx = E(X^2) - 2aE(X) + a^2$
 $= V(X) + \{E(X)\}^2 - 2aE(X) + a^2 = V(X) + \{E(X) - a\}^2$

$\boxed{7}$ $E(Y) = aE(X) + b$ $(Y - E(Y))^k = \{(aX + b) - (aE(X) + b)\}^k = a^k \cdot (X - E(X))^k$
 $\therefore E[(Y - E(Y))^k] = a^k E[(X - E(X))^k]$